Bid Proof

Bid Number: 10008606-10-P

Bid Title:Miscellaneous Speed Shoring Forms and Shoring Pump Rental

	TRAFFIC CONTROL SERVICE INC Vendor ID: TRC 02140184				ays ARO: 0 pt To Renew Pct. (%): N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: I Tax Rate Pct (%): (N/A)
Schedul	e 1									
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Shoring Pump GME, PL-1000			GME	PL-1000	1 DY24	\$14.00	\$14.00	\$0.00	\$14.00
2	Speed Shoring Form 18" to 27"			GME	1727	1 DY24	\$10.20	\$10.20	\$0.00	\$10.20
3	22" to 36"			GME	2236	1 DY24	\$10.20	\$10.20	\$0.00	\$10.20
4	28" to 46"			GME	2846	1 DY24	\$12.83	\$12.83	\$0.00	\$12.83
5	33" to 47"			GME	3347	1 DY24	\$12.83	\$12.83	\$0.00	\$12.83
6	34" to 55"			GME	3455	1 DY24	\$12.83	\$12.83	\$0.00	\$12.83
7	44" to 58"			GME	4458	1 DY24	\$13.25	\$13.25	\$0.00	\$13.25
8	52" to 73"			GME	5273	1 DY24	\$16.75	\$16.75	\$0.00	\$16.75
9	52" to 88"			GME	5288	1 DY24	\$16.75	\$16.75	\$0.00	\$16.75
10	76" to 112"			GME	76112	1 DY24	\$19.80	\$19.80	\$0.00	\$19.80
11	4' x 8'			NORTH AMERIC PLY	CAN FF48	1 DY24	\$14.00	\$14.00	\$0.00	\$14.00
						Sect	ion 1 Subtotals:	\$153.44	\$0.00	\$153.44
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Shoring Pump GME, PL-1000			GME	PL-1000	124 WK	\$14.00	\$1,736.00	\$0.00	\$1,736.00
2	Speed Shoring Form 18" to 27"			GME	1727	55 WK	\$10.20	\$561.00	\$0.00	\$561.00

	TRAFFIC CONTROL SERVICE INCVendor ID:TRC 02140184				ays ARO: pt To Renew Pct. (%):	0 N/A	Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedul	e 1									
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	mber Quantity	Unit Price	Extension	Тах	Final
3	22" to 36"			GME	2236	300 WK	\$10.20	\$3,060.00	\$0.00	\$3,060.00
4	28" to 46"			GME	2846	22 WK	\$12.83	\$282.26	\$0.00	\$282.26
5	33" to 47"			GME	3347	150 WK	\$12.83	\$1,924.50	\$0.00	\$1,924.50
6	34" to 55"			GME	3455	47 WK	\$12.83	\$603.01	\$0.00	\$603.01
7	44" to 58"			GME	4458	28 WK	\$13.25	\$371.00	\$0.00	\$371.00
8	52" to 73"			GME	5273	32 WK	\$16.75	\$536.00	\$0.00	\$536.00
9	52" to 88"			GME	5288	14 WK	\$16.75	\$234.50	\$0.00	\$234.50
10	76" to 112"			GME	76112	1 WK	\$19.80	\$19.80	\$0.00	\$19.80
11	4' x 8'			NORTH AMERIC PLY	CAN FF48	40 WK	\$14.00	\$560.00	\$0.00	\$560.00
						Sec	tion 2 Subtotals:	\$9,888.07	\$0.00	\$9,888.07
Section	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	mber Quantity	Unit Price	Extension	Тах	Final
1	Shoring Pump GME, PL-1000			GME	PL-1000	1 MO30	\$14.00	\$14.00	\$0.00	\$14.00
2	Speed Shoring Form 18" to 27"			GME	1727	1 MO30	\$10.20	\$10.20	\$0.00	\$10.20
3	22" to 36"			GME	2236	1 MO30	\$10.20	\$10.20	\$0.00	\$10.20
4	28" to 46"			GME	2846	1 MO30	\$12.83	\$12.83	\$0.00	\$12.83
5	33" to 47"			GME	3347	1 MO30	\$12.83	\$12.83	\$0.00	\$12.83
6	34" to 55"			GME	3455	1 MO30	\$12.83	\$12.83	\$0.00	\$12.83
7	44" to 58"			GME	4458	1 MO30	\$13.25	\$13.25	\$0.00	\$13.25
8	52" to 73"			GME	5273	1 MO30	\$16.75	\$16.75	\$0.00	\$16.75

	TRAFFIC CONTROL SERVICE INCVendor ID:TRC 02140184			Days AR Opt To F	20: 0 Renew Pct. (%): N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedu	e 1									
Section	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
9	52" to 88"			GME	5288	1 MO30	\$16.75	\$16.75	\$0.00	\$16.75
10	76" to 112"			GME	76112	1 MO30	\$19.80	\$19.80	\$0.00	\$19.80
11	4' x 8'			NORTH AMERICAN PLY	FF48	1 MO30	\$14.00	\$14.00	\$0.00	\$14.00
						Sect	ion 3 Subtotals:	\$153.44	\$0.00	\$153.44
Section	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Delivery					250 EA	\$50.00	\$12,500.00	\$0.00	\$12,500.00
2	Pick-up					250 EA	\$50.00	\$12,500.00	\$0.00	\$12,500.00
						Sect	ion 4 Subtotals:	\$25,000.00	\$0.00	\$25,000.00
						Sched	ule 1 Subtotals:	\$35,194.95	\$0.00	\$35,194.95
					Subtotals for TRA	RAFFIC CONTROL SERVICE INC:		\$35,194.95	\$0.00	\$35,194.95
								Miscellaneo	us Charges	\$0.00
									Freight:	\$0.00
					Extraordinary Labor _ 0 hours @ \$0.00/hou					\$0.00
						Grand	Total for TRAF	FIC CONTROL SERV	ICE INC:	\$35,194.95
							F	inal Price (w/ Dis	scount):	\$35,194.95

	WONDENBERG INDUSTRIES Vendor ID: TEMP-WONDENB				Days ARO: Opt To Renew Pct. (%):	"AT ONCE" N/A	Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedul	e 1									
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	mber Quantity	Unit Price	Extension	Тах	Final
1	Shoring Pump GME, PL-1000			SPEED SHO	RE HUP-2000	1 DY24	\$8.00	\$8.00	\$0.00	\$8.00
2	Speed Shoring Form 18" to 27"			SPEED SHO	RE U-7-27	1 DY24	\$3.00	\$3.00	\$0.00	\$3.00
3	22" to 36"			SPEED SHO	RE U-7-36	1 DY24	\$5.00	\$5.00	\$0.00	\$5.00
4	28" to 46"			SPEED SHO	RE U-7-46	1 DY24	\$3.00	\$3.00	\$0.00	\$3.00
5	33" to 47"			SPEED SHO	RE E-2-3611	1 DY24	\$3.00	\$3.00	\$0.00	\$3.00
6	34" to 55"			SPEED SHO	RE 0-7-55	1 DY24	\$6.00	\$6.00	\$0.00	\$6.00
7	44" to 58"			SPEED SHO	RE E-2-3622	1 DY24	\$3.00	\$3.00	\$0.00	\$3.00
8	52" to 73"			SPEED SHO	RE U-7-73	1 DY24	\$3.00	\$3.00	\$0.00	\$3.00
9	52" to 88"			SPEED SHO	RE U-7-88	1 DY24	\$3.00	\$3.00	\$0.00	\$3.00
10	76" to 112"			SPEED SHO	RE E-2-8824	1 DY24	\$3.00	\$3.00	\$0.00	\$3.00
11	4' x 8'			FIN FORM	FF0408	1 DY24	\$6.00	\$6.00	\$0.00	\$6.00
						Sec	tion 1 Subtotals:	\$46.00	\$0.00	\$46.00
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	mber Quantity	Unit Price	Extension	Тах	Final
1	Shoring Pump GME, PL-1000			SPEED SHO	RE HUP-2000	124 WK	\$8.00	\$992.00	\$0.00	\$992.00
2	Speed Shoring Form 18" to 27"			SPEED SHO	RE U-7-27	55 WK	\$5.00	\$275.00	\$0.00	\$275.00
3	22" to 36"			SPEED SHO	RE U-7-26	300 WK	\$5.00	\$1,500.00	\$0.00	\$1,500.00
4	28" to 46"			SPEED SHO	RE U-7-46	22 WK	\$10.00	\$220.00	\$0.00	\$220.00
5	33" to 47"			SPEED SHO	RE E-23611	150 WK	\$5.00	\$750.00	\$0.00	\$750.00
6	34" to 55"			SPEED SHO	RE U-7-55	47 WK	\$5.00	\$235.00	\$0.00	\$235.00

•••	WONDENBERG INDUSTRIES Vendor ID: TEMP-WONDENB				Days ARO: Opt To Renew Pct. (%):	"AT ONCE" N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedu	le 1										
Section	12										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	ımber	Quantity	Unit Price	Extension	Тах	Final
7	44" to 58"			SPEED SHOR	E E-23622		28 WK	\$5.00	\$140.00	\$0.00	\$140.00
8	52" to 73"			SPEED SHOR	E U-7-73		32 WK	\$5.00	\$160.00	\$0.00	\$160.00
9	52" to 88"			SPEED SHOR	E U-7-88		14 WK	\$5.00	\$70.00	\$0.00	\$70.00
10	76" to 112"			SPEED SHOR	E E-28824		1 WK	\$10.00	\$10.00	\$0.00	\$10.00
11	4' x 8'			FIN FORM	FF0408		40 WK	\$10.00	\$400.00	\$0.00	\$400.00
							Sect	ion 2 Subtotals:	\$4,752.00	\$0.00	\$4,752.00
Section	13										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	ımber	Quantity	Unit Price	Extension	Тах	Final
1	Shoring Pump GME, PL-1000			SPEED SHOR	E HUP-2000)	1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
2	Speed Shoring Form 18" to 27"			SPEED SHOR	E U-7-27		1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
3	22" to 36"			SPEED SHOR	E U-7-36		1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
4	28" to 46"			SPEED SHOR	E U-7-46		1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
5	33" to 47"			SPEED SHOR	E E-23611		1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
6	34" to 55"			SPEED SHOR	E U-7-55		1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
7	44" to 58"			SPEED SHOR	E E23622		1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
8	52" to 73"			SPEED SHOR	E U-7-73		1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
9	52" to 88"			SPEED SHOR	E U-7-88		1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
10	76" to 112"			SPEED SHOR	E C-2-8824		1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
11	4' x 8'			FF0408			1 MO30	\$24.00	\$24.00	\$0.00	\$24.00
							Sect	ion 3 Subtotals:	\$264.00	\$0.00	\$264.00

•••	WONDEN Vendor ID:	BERG INDUSTRIES TEMP-WONDENB				Days ARO: Opt To Renew Pct. (%):	"AT ONCE" N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedu	ıle 1											
Section	n 4											
Item No.	Item Descri	ption	Stock Number	NB NR	Manufacturer	Product Nu	ımber	Quantity	Unit Price	Extension	Tax	Final
1	Delivery							250 EA	\$30.00	\$7,500.00	\$0.00	\$7,500.00
2	Pick-up							250 EA	\$30.00	\$7,500.00	\$0.00	\$7,500.00
								Sect	ion 4 Subtotals:	\$15,000.00	\$0.00	\$15,000.00
								Sched	ule 1 Subtotals:	\$20,062.00	\$0.00	\$20,062.00
						Sul	ototals for WO	NDENBERG	INDUSTRIES:	\$20,062.00	\$0.00	\$20,062.00
										Miscellane	ous Charges	\$0.00
											Freight:	\$0.00
Extraordinary Labor _ 0 hours @ \$0.00/hou										@ \$0.00/hou	\$0.00	
Grand Total for WONDENBERG INDUSTRIES:										USTRIES:	\$20,062.00	
Final Price (w/ Discount):										scount):	\$20,062.00	